### BIDDER'S LA LICENSE NUMBER:

License No. 12198

### BIDDER:

Byron E. Talbot Contractor, Inc. P. O. Box 5658 Thibodaux, LA 70302 985-447-5764

### **OPENING DATE AND TIME:**

Thursday, November 21, 2019, 2:00pm

### BID OPENING LOCATION:

Jefferson Parish General Government Building West Bank Purchasing Department 200 Derbigny St., Ste. 4400 Gretna, LA 70053

### Bid for:

Avenue D Drainage Improvements – Phase VII Avenue C (Between 4<sup>th</sup> Street and 6<sup>th</sup> Street) S.P. No. 576-26-0028(337)/H.003559 Public Works No. 2014-026-DR Proposal No. 50-00128108

### THREE ADDENDA HAVE BEEN RECEIVED.

### OWNER:

Jefferson Parish Attn: Purchasing 200 Derbigny Street, Suite 4400 Gretna, LA 70053

### LOUISIANA UNIFORM PUBLIC WORK BID FORM

TO:	Jefferson Parish	BID FOR: Avenue D Drainage Improvements - Phase VII
	Attn: Purchasing	Avenue C (Between 4 <sup>th</sup> Street and 6 <sup>th</sup> Street)
	200 Derbigny Street, Suite 440	S.P. No. 576-26-0028 (337) / H.003559
	Gretna, Louisiana 70056	Public Works No. 2014-026-DR
		Proposal No. 50-00128108
	(Owner to provide name and address of owner	(Owner to provide name of project and other identifying information)
		represents that she/he; a) has carefully examined and understands the Bidding Documents, b)
		n any verbal instructions contrary to the Bidding Documents or any addenda, c) has
person	ally inspected and is familiar with the p	project site, and hereby proposes to provide all labor, materials, tools, appliances and facilities
as requ	iired to perform, in a workmanlike mar	nner, all work and services for the construction and completion of the referenced project, all in
	ccordance with the Bidding Document otember 12, 2019.	s prepared by: Hartman Engineering, Inc. and dated:
	to provide name of entity preparing biddin	ng documents.)
has ass	signed to each of the addenda that the B	Bidder acknowledges receipt of the following <b>ADDENDA:</b> (Enter the number the Designer Bidder is acknowledging) #1 dated 10/31/19, #2 dated 11/05/19, and #3 dated 11/13/19.
		by the Bidding Documents (including any and all unit prices designated "Base Bid" * but not
alterna	tes) the sum of:	
ONE	MILLION EIGHT HUNDRED	NINETY-NINE THOUSAND NINE
HUN	DRED TWENTY-FIVE DOL	LARS AND SEVENTY-FIVE CENTS Dollars (\$1,899,925.75
alterna	tes in the unit price description.	on of alternate and state whether add or deduct) for the lump sum of:
	N/A	
Altern	ate No. 2 (Owner to provide description	on of alternate and state whether add or deduct) for the lump sum of:
	N/A	Dollars (\$N/A)
Altern	ate No. 3 (Owner to provide description	on of alternate and state whether add or deduct) for the lump sum of:
	N/A	Dollars (\$N/A)
NAME	E OF BIDDER:Byron E. Ta	alhot Contractor, Inc.
ADDR	RESS OF BIDDER: P.O. Box 56	
	Thibodaux,	LA 70302
LOUIS	SIANA CONTRACTOR'S LICENSI	E NUMBER: 12198
Name	OF AUTHORIZED SIGNATORY O	
	E OF AUTHORIZED SIGNATORY	
	ATURE OF AUTHORIZED SIGNA	TORY OF BIDDER **:
DATE	:11/21/19	

## THE FOLLOWING ITEMS ARE TO BE INCLUDED WITH THE SUBMISSION OF THIS LOUISIANA UNIFORM PUBLIC WORK BID FORM:

- \* The <u>Unit Price Form</u> shall be used if the contract includes unit prices. Otherwise it is not required and need not be included with the form. The number of unit prices that may be included is not limited and additional sheets may be included if needed.
- \*\* A CORPORATE RESOLUTION OR WRITTEN EVIDENCE of the authority of the person signing the bid for the public Work as prescribed by LA R.S. 38:2212(B)(5).

BID SECURITY in the form of a bid bond, certified check or cashier's check as prescribed by LARS 38:2218.(A) attached to and made a part of this bid.

# LOUISIANA UNIFORM PUBLIC WORK BID FORM <u>UNIT PRICE FORM</u>

			BID FOR	Avenue D Drainage Improvements - Phase VII  Avenue C (Between 4 <sup>th</sup> Street and 6 <sup>th</sup> Street)  S.P. No. 576-26-0028 (337) / H.003559  Public Works No. 2014-026-DR  Proposal No. 50-00128108
(Owner to provide	name and address of c	owner)	(Own	er to provide name of project and other identifying information)
UNIT PRICES:	This form shall b			ding Documents and described as unit prices.
DESCRIPTION:	■ Base	Rid or □ Alt # Cost to list	Lefferson Parish as an add	itional insured on General Liability
REF. NO.	QUANTITY:	UNIT OF MEASURE: Only	UNIT PRICE  1.00	UNIT PRICE EXTENSION (Quantity times Unit Price)
DESCRIPTION:	■ Base l	Bid or ☐ Alt.# Cost to list	Jefferson Parish as an add	itional insured on Automobile Liability
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
2	1	Only	1.00	1.00
DESCRIPTION:	■ Base Bio	for Alt.# Removal of	Structures and Obstruction	100
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
202-01-00100	Lump Sum	Lump Sum	16,500.00	16,500.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Removal o	of Asphalt Pavement	7 1 7 0 0 0 0
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
202-02-02020	2589.4	Sq. Yd.	13.50	34,956,90
DESCRIPTION:	■ Base I	Bid or ☐ Alt.# Removal o		21) 154, 10
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
202-02-06060	50	Each	525.00	26,250.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Removal o		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
202-02-06100	1602	Sq. Yd.	16.25	26,032.50
DESCRIPTION:	■ Base H	Bid or ☐ Alt.# Geotextile		1,000
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
203-08-00100	3158	Sq. Yd.	2.15	8,684.50
DESCRIPTION:	■ Base B	Bid or ☐ Alt.# Temporary	Hay Bales	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
204-02-00100	196	Each	30.00	5,880.00
DESCRIPTION:	Base B	Bid or ☐ Alt.# Temporary	Silt Fencing	,
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
204-06-00100	2519	Lin. Ft.	3.00	7.557.00
DESCRIPTION:	Base B	Bid or ☐ Alt.# Class II Ba	se Course (8" Thick) (Cru	ished Stone)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
302-02-08020	2781.0	Sq. Yd.	21.50	59,791.50
DESCRIPTION:	Base B	id or □ Alt.# Mainline T		ring (Aggregate) (Vehicular Measurement)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
402-01-00100	450.0	Cu. Yd.	90.00	40,500.00
				10,000

Wording for "DESCRIPTION" is to be provided by the Owner

All quantities are estimated. The contractor will be paid upon actual quantities as verified by Owner.

### LOUISIANA UNIFORM PUBLIC WORK BID FORM **UNIT PRICE FORM**

TO: Jefferson Par Attn: Purchas 200 Derbigny Gretna, Louis	sing Street, Suite 440		BID FOR:	Avenue D Drainage Improvements - Phase VII Avenue C (Between 4 <sup>th</sup> Street and 6 <sup>th</sup> Street)  S.P. No. 576-26-0028 (337) / H.003559  Public Works No. 2014-026-DR  Proposal No. 50-00128108
(Owner to provide no	ame and address of o	owner)	(Owner	r to provide name of project and other identifying information)
		be used for any and all wo s and only in figures.	rk required by the Bidd	ing Documents and described as unit prices.
DESCRIPTION:	■ Base I	Bid or □ Alt.# Asphalt C	oncrete	
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
502-01-00100	753.9	Ton	110.00	82,929.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Asphalt C	oncrete Drives, Turnouts ar	nd Miscellaneous
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
502-01-00200	27.9	Ton	330.00	9,201.00
DESCRIPTION:	■ Base Bio	d or ☐ Alt.# Storm Drain	Pine (15" RCP)	***
REF. NO.	OUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701-03-01000	1890	Lin. Ft.	60.50	114,345.00
DESCRIPTION.				77.70
DESCRIPTION:	CONTROL OF THE PROPERTY OF THE	Bid or Alt.# Storm Dra	TO A THE REPORT OF THE PARTY OF	INTERPRICE EXTENSION (O. 1911 M. P. 1)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701-03-01020	184	Lin. Ft	71.00	13,064.00
DESCRIPTION:	■ Base I	Bid or 🗆 Alt.# Storm Dra	ain Pipe (24" RCP)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701-03-01040	62	Lin. Ft	89.00	5,518.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Storm Dra	ain Pipe (30" RCP)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701-03-01060	12	Lin. Ft.	150.00	1,800.00
DESCRIPTION:	■ Base I	Did on D Alt # Ctown Dow		
REF. NO.	OUANTITY:	Bid or □ Alt.# Storm Dra UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701-03-01080	10	Lin. Ft.	200.00	2,000.00
DESCRIPTION:		Bid or Alt.# Storm Dra	A CHURCH CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CO	
REF. NO.	and the state of t	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
701-04-01120	906	Lin. Ft.	362.00	327,972.00
DESCRIPTION:	■ Base I	Bid or ☐ Alt.# Conflict E	Box ("A")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702-01-00100-A	1	Each	31,000.00	31,000.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Conflict E	Box ("B")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702-01-00100-B	1	Each	40,000.00	40,000.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Conflict E		, , ,
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
ILLI. ITO.	Vointilli.	JIMI OF MILMOURL.	OTHER FREE CO.	Citi Inco Little Color (Quantity times Om 1710e)

Each

Wording for "DESCRIPTION" is to be provided by the Owner All quantities are estimated. The contractor will be paid upon actual quantities as verified by Owner.

31,000.00

31,000.00

702-01-00100-C

# LOUISIANA UNIFORM PUBLIC WORK BID FORM UNIT PRICE FORM

TO: Jefferson Par			BID FOR	: Avenue D Drainage Improvements - Phase VII
Attn: Purcha	sing y Street, Suite 440			Avenue C (Between 4 <sup>th</sup> Street and 6 <sup>th</sup> Street)
Gretna, Loui				S.P. No. 576-26-0028 (337) / H.003559
Gretila, Loui	Sialia 70030			Public Works No. 2014-026-DR Proposal No. 50-00128108
(Owner to provide n	ame and address of c	owner)	(Owne	r to provide name of project and other identifying information)
UNIT PRICES:	This form shall b	e used for any and all w	ork required by the Bidd	ling Documents and described as unit prices.
Amounts shall b	e stated in figure	s and only in figures.	ork required by the Dide	mig Documents and described as unit prices.
DESCRIPTION:	■ Base I	Bid or ☐ Alt.# Manhole	s (MH-06)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
702-02-00100	1	Each	5,500.00	5,500.00
DESCRIPTION:	■ Base F	Bid or Alt.# Catch Ba	usins (CB-01)	,
REF. NO.	QUANTITY:	UNIT OF MEASURE:		UNIT PRICE EXTENSION (Quantity times Unit Price)
702-03-00100	49	Each	3,100.00	151,900.00
I BESOD IDEAS			,	101, 100.00
DESCRIPTION:	The state of the s	Bid or ☐ Alt.# Concrete		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNITARICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
706-01-00100	1048	Sq. Yd.	48.00	50,304.00
DESCRIPTION:	■ Base B	Bid or Alt.# Concrete	Drive (6" Thick)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
706-02-00200	1016.8	Sq. Yd.	56.00	56,940.80
DESCRIPTION:	■ Base B	Bid or ☐ Alt.# Incidenta	l Concrete Paving (6" Thick	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	· Control of the cont	UNIT PRICE EXTENSION (Quantity times Unit Price)
706-03-00300	95.5	Sq. Yd.	57.00	5,443.50
DESCRIPTION:	■ Base B	sid or □ Alt.# Handicap		-,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
706-04-00100	7	Each	1,250.00	8,750.00
DESCRIPTION:	■ Base B	id or Alt.# Temporar		,
REF. NO.		UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
713-01-00100	Lump Sum	Lump Sum	23,000.00	23,000.00
DESCRIPTION:	■ Base B	id or 🗆 Alt.# Slab Sodd		
REF. NO.		UNIT OF MEASURE:		UNIT PRICE EXTENSION (Quantity times Unit Price)
714-01-00600	1876	Sq. Yd.	10.00	18,760.00
DESCRIPTION:	■ Base B	id or ☐ Alt.# Plants (C		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
719-01-02220	8	Each	800.00	6,400.00
				0,700.00

Wording for "DESCRIPTION" is to be provided by the Owner

All quantities are estimated. The contractor will be paid upon actual quantities as verified by Owner.

■ Base Bid or □ Alt.# \_\_\_ Granular Material (Net Section)

QUANTITY: | UNIT OF MEASURE: |

Cu. Yd.

QUANTITY: | UNIT OF MEASURE: |

Cu. Yd.

■ Base Bid or □ Alt.# \_\_\_ Bedding Material

UNIT PRICE

26.25

UNIT PRICE

82,25

UNIT PRICE EXTENSION (Quantity times Unit Price)

UNIT PRICE EXTENSION (Quantity times Unit Price)

36,513.75

2080.8

DESCRIPTION:

723-01-00100

**DESCRIPTION:** 

726-01-00100

REF. NO.

REF. NO.

# LOUISIANA UNIFORM PUBLIC WORK BID FORM <u>UNIT PRICE FORM</u>

			BID FOR	Avenue D Drainage Improvements - Phase VII Avenue C (Between 4 <sup>th</sup> Street and 6 <sup>th</sup> Street) S.P. No. 576-26-0028 (337) / H.003559 Public Works No. 2014-026-DR Proposal No. 50-00128108
	name and address of a			er to provide name of project and other identifying information)
		s and only in figures.	ork required by the Bido	ling Documents and described as unit prices.
DESCRIPTION:	■ Base I	Bid or □ Alt.# Mobilizat	tion	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
727-01-00100	Lump Sum	Lump Sum	90,500.00	90,500.00
DESCRIPTION:	■ Base Bio	l or 🗆 Alt.# Plastic Pave	ement Striping (6" Width) (	Thermoplastic 125 Mil)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-01-02020	140	Lin. Ft.	3,30	462.00
DESCRIPTION:	■ Base I	Bid or ☐ Alt.# Plastic Pa	evement Striping (24" Widt	h) (Thermoplastic 125 Mil)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-01-02080	20	Lin. Ft.	22.00	440.00
DESCRIPTION:	■ Base I	Rid or □ Alt # Plastic Ps		e) (4" Width) (Thermoplastic 90 Mil)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-02-02000	0.030	Mile	11,000.00	330.00
DECODIDETON				
DESCRIPTION:	Charleson season for the contract broken	Bid or Alt.# Plastic Pa	And the second of the second o	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
732-04-19020	1	Each	1,100.00	1,100.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Construct		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
740-01-00100	Lump Sum	Lump Sum	20,000.00	20,000.00
DESCRIPTION:	■ Base I	Bid or Alt.# Utility O	versight and Coordination	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
740-02-00100	Lump Sum	Lump Sum	9,500.00	9,500.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Adjusting	g Water Valve	· · · · · · · · · · · · · · · · · · ·
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
741-11-00100	2	Each	650.00	1,300.00
DESCRIPTION:	■ Base I	Bid or ☐ Alt.# Water Ma	ain (8") (PVC/C-900 Pine)	·
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-108	1170	Lin. Ft.	30.00	35,100.00
DESCRIPTION		N. J D. A14. W 3.5	· · · · · · · · · · · · · · · · · · ·	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
DESCRIPTION:		Bid or Alt.# Water Ma		UNIT DDICE EVTENCION (O
REF. NO. W-206	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
v v-200	30	Lill. Ft.	50.00	2,500.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Water Ma	прости и били по полименти и полименти по при	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-208	52	Lin. Ft.	60.00	3,120.00

Wording for "DESCRIPTION" is to be provided by the Owner

All quantities are estimated. The contractor will be paid upon actual quantities as verified by Owner.

# LOUISIANA UNIFORM PUBLIC WORK BID FORM <u>UNIT PRICE FORM</u>

			BID FOR	Avenue D Drainage Improvements - Phase VII  Avenue C (Between 4 <sup>th</sup> Street and 6 <sup>th</sup> Street)  S.P. No. 576-26-0028 (337) / H.003559  Public Works No. 2014-026-DR  Proposal No. 50-00128108
(Owner to provide r	name and address of o	owner)	(Owne	er to provide name of project and other identifying information)
UNIT PRICES: Amounts shall b	This form shall be stated in figure	be used for any and all wo es and only in figures.	rk required by the Bidd	ding Documents and described as unit prices.
DESCRIPTION:	■ Base I	Bid or □ Alt.# Gate Valv	e and Valve Box (8")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-408	7	Each	2,200.00	15,400.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Pipe Restr	raints (6")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-706	16	Each	75.00	1,200.00
DESCRIPTION:	■ Base I	Bid or □Alt.# Pipe Restr		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-708	16	Each	110.00	
				1,760.00
DESCRIPTION:		Bid or Alt.# Transitiona	Market Control of the	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-806	2	Each	325.00	650.00
DESCRIPTION:	■ Base I	Bid or ☐ Alt.# Transition	al Couplings (8")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-808	4	Each	350.00	1,400.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Ductile Iro	on Fittings	,
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-901	1570	Pounds	6.00	9,420.00
DESCRIPTION				7,700,00
DESCRIPTION: REF. NO.	■ Base I QUANTITY:	Bid or ☐ Alt.# Fire Hydra		INTERDICE EVERYGOV (C V V B
W-902-A	3	Each	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
VV-302-A	3	Edell	4,300.00	12,900.00
DESCRIPTION:	the last section of the last section is a section of the last sect	Bid or □ Alt.# Water Serv		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-903-0	30	Each	350,00	10,500.00
DESCRIPTION:	■ Base B	Bid or □ Alt.# Water Mete	er/Meter Box Adjustment (	<1")
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-906-0-A	18	Each	300.00	5,400.00
DESCRIPTION:	■ Base B	Bid or □ Alt.# Removal &		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
W-907-6	1103	Lin. Ft.	15,50	17,096.50
				11,040.30
DESCRIPTION: REF. NO.	■ Base B  QUANTITY:	Bid or Alt.# Relocation	· · · · · · · · · · · · · · · · · · ·	AN INT DRIVEN COMMENTS
KLI . NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)

Wording for "DESCRIPTION" is to be provided by the Owner

Each

All quantities are estimated. The contractor will be paid upon actual quantities as verified by Owner.

250.00

6,750.00

S-001

### LOUISIANA UNIFORM PUBLIC WORK BID FORM **UNIT PRICE FORM**

			BID FOR:	Avenue D Drainage Improvements - Phase VII Avenue C (Between 4 <sup>th</sup> Street and 6 <sup>th</sup> Street) S.P. No. 576-26-0028 (337) / H.003559 Public Works No. 2014-026-DR Proposal No. 50-00128108
(Owner to provide r	name and address of c	owner)	(Owner	to provide name of project and other identifying information)
UNIT PRICES:	This form shall b			ing Documents and described as unit prices.
DESCRIPTION:	■ Base I	Bid or □ Alt.# Exploratory	Excavation (0 ft. to 8 ft. D	Deep)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-004	10	Each	1,100.00	11,000.00
DESCRIPTION:	■ Base I	Bid or Alt.# Tree Trimn	ning (12' Vertical Work Zo	ne)
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-005	Lump Sum	Lump Sum	3,300,00	3,300.00
DESCRIPTION:	■ Base I	Bid or Alt.# Root Pruni	ng	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-006	5	Each	1,400.00	7,000.00
				,
DESCRIPTION:	A SAME PROPERTY OF THE PROPERT	Bid or Alt.# Sewer Line	THE REAL PROPERTY OF THE PROPE	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-106	20	Lin. Ft.	250,00	5,000.00
DESCRIPTION:	■ Base I	Bid or □ Alt.# Sewer Mai	in (8")(PVC/SDR 26 Pipe)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-108	20	Lin. Ft.	250.00	5,000.00
DESCRIPTION:	■ Base I	Bid or □Alt.# Sewer Line	e (6") (Ductile Iron)	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-206	42	Lin. Ft.	300.00	12,600.00
				12,600.00
DESCRIPTION:	######################################	Bid or □Alt.# Sewer Mai		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-208	84	Lin. Ft.	300.00	25,200.00
DESCRIPTION:	THE RESIDENCE OF THE PARTY OF T	Bid or □Alt.# Sewer Serv	vice Connection "Pipe"	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-502	50	Lin. Ft.	500.00	25,000,00
DESCRIPTION:	■ Base B	Bid or □ Alt.# Shielded Co	oupling (6")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-606	2	Each	75.00	150.00
DESCRIPTION:	The second secon	Bid or Alt.# Shielded Co		
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
S-608	2	Each	100.00	200.00
DESCRIPTION:	■ Base B	Bid or □Alt.# Shallow Sev	wer I ine Point Donair (0")	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	LIMIT DDICE EVTENSION (Co. and the Co. and the Co. and the Co. and Co.
S-708-SPR	3	Each	6,000.00	UNIT PRICE EXTENSION (Quantity times Unit Price)
			,	18,000.00
wording for "DI	ESCRIPTION" is	to be provided by the Ow	mer	

All quantities are estimated. The contractor will be paid upon actual quantities as verified by Owner.

# LOUISIANA UNIFORM PUBLIC WORK BID FORM <u>UNIT PRICE FORM</u>

Attn: Purchasing 200 Derbigny Street, Suite 440 Gretna, Louisiana 70056				BID FOR: Avenue D Drainage Improvements - Phase VII  Avenue C (Between 4 <sup>th</sup> Street and 6 <sup>th</sup> Street)  S.P. No. 576-26-0028 (337) / H.003559  Public Works No. 2014-026-DR  Proposal No. 50-00128108					
(Owner to provide not UNIT PRICES: 7 Amounts shall be	Γhis form shall be	e used for any and	all work		to provide name of project and other identifying information) ing Documents and described as unit prices.				
DESCRIPTION:	Base B	id or □ Alt.# Me	dium Dept	th Sewer Line Point Repai	ir (8")				
REF. NO.	QUANTITY:	UNIT OF MEASI	SECURIO DE CONTRACTO DE CONTRAC	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)				
S-708-MPR	3	Each	Communication of the second	10,000.00	30,000.00				
DESCRIPTION:	■ Base B	id or □ Alt.# De	ep Sewer I	ine Point Repair (8")					
REF. NO.	QUANTITY:	UNIT OF MEASI		UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)				
S-708-DPR	3	Each	Maria (180 1903)	15,000.00	45,000.00				
DESCRIPTION:	■ Base B	id or □ Alt.# Ti	e-In, New 1	Main to Existing Sewer M	Ianhole				

UNIT PRICE

UNIT PRICE

Base Bid or ☐ Alt.# \_\_\_ Tree and Stump Removal (Under 36" - 36" Diameter)

3,100.00

UNIT PRICE EXTENSION (Quantity times Unit Price)

UNIT PRICE EXTENSION (Quantity times Unit Price)

33,600.00

Wording for "DESCRIPTION" is to be provided by the Owner All quantities are estimated. The contractor will be paid upon actual quantities as verified by Owner.

REF. NO.

DESCRIPTION:

NS-201-00001

REF. NO.

S-903

QUANTITY:

UNIT OF MEASURE:

UNIT OF MEASURE:

Each

Each



Bond Number: SLA19732191

**Contractor Information** 

Principal: Byron E. Talbot Contractor, Inc.

Address: 24288 Highway 190 Robert Louisiana 70455 United States

### **Owner/Obligee Information**

Bond Form: Bid Bond in accordance with Contract Specifications

Owner/Obligee: Contracting Agency as specified in the project proposal Address: P.O. Box 94245 Baton Rouge Louisiana 70804 United States

### **Bond Information**

Surety: Hartford Accident and Indemnity Company

Bid Date: 11/21/2019

**Estimated Contract Price: \$3M** 

Time For Completion: 120 calendar days

Liquidated Damages: \$500/day Estimated Work On Hand: Amount of Bid Security: 5%

Contract # or IFB #: 576-26-0028(337)/H.003559

**Description of Job:** Avenue D Drainage Improvements - Phase VII, Avenue C (Between 4th Street and 6th Street), S.P. No. 576-26-0028(337)/H.003559, Public

Works Project No. 2014-026-DR

**Job Breakdown:** The Project consists of drainage improvements at Ave. C (Between 4th and 6th St.). The work includes installation of concrete drainage pipe (RCP) and roadway replacement.

### **Electronic Bidding Information**

**Bid Security Percentage:** 5 **Bid Security Maximum:** 

Owner Assigned Contractor Number: 34498

### **Primary Agency:**

Paul's Agency, LLC

Power of Attorney Limited to: Unlimited

**Executed** 

Entered By: Mark Lane - 11/6/2019 9:48:28 AM ET

Approved & Executed By:

Mark Lane

Mark Lane (Signed: 06-Nov-2019 09:48 AM EST (UTC-05:00))

Signature Information

Know all men by these presents that Hartford Accident and Indemnity Company, a Corporation duly organized under the laws of the State of Connecticut, are held and firmly bound unto the above owner/obligee by this transmission. The surety agrees to waive the Statute of Fraud defense and further agrees that the owner/obligee is a third party beneficiary of the waiver for the purposes of enforcing this bid bond.

© S2000, Inc.

Document ID: S2000-1001024321

### **Public Works Bid**

### **AFFIDAVIT**

STATE OF Louisiana	
PARISH/COUNTY OF	<u>Tangipahoa</u>
BEFORE ME, the un	dersigned authority, personally came and appeared: Byron E. Talbot
, (Af	fiant) who after being by me duly sworn, deposed and said that
he/she is the fully authorized	Byron E. Talbot Of Contractor, Inc. (Entity),
the party who submitted a bi	d in response to Bid Number 50-00128108, to the Parish of
Jefferson.	
Affiant further said:	
Campaign Contribution Disc	elosures
(Choose A or B, if option	on A is indicated please include the required
attachment):	
Choice A	Attached hereto is a list of all campaign contributions, including the date and amount of each contribution, made to current or former elected officials of the Parish of Jefferson by Entity, Affiant, and/or officers, directors and owners, including employees, owning 25% or more of the Entity during the two-year period immediately preceding the date of this affidavit or the current term of the elected official, whichever is greater. Further, Entity, Affiant, and/or Entity Owners have not made any contributions to or in support of current or former members of the Jefferson Parish Council or the Jefferson Parish President through or in the name of another person or legal entity, either directly or indirectly.
Choice B	there are <u>NO</u> campaign contributions made which would require disclosure under Choice A of this section.

### Affiant further said:

### Debt Disclosures

# (Choose A <u>or</u> B, if option A is indicated please include the required attachment):

Choice A \_\_\_\_\_ Attached hereto is a list of all debts owed by the affiant to any elected or appointed official of the Parish of Jefferson, and any and all debts owed by any elected or appointed official of the parish to the Affiant.

Choice B \_\_\_\_ There are NO debts which would require disclosure under Choice A of this section.

### Affiant further said:

That Affiant has employed no person, corporation, firm, association, or other organization, either directly or indirectly, to secure the public contract under which he received payment, other than persons regularly employed by the Affiant whose services in connection with the construction, alteration or demolition of the public building or project or in securing the public contract were in the regular course of their duties for Affiant; and

That no part of the contract price received by Affiant was paid or will be paid to any person, corporation, firm, association, or other organization for soliciting the contract, other than the payment of their normal compensation to persons regularly employed by the Affiant whose services in connection with the construction, alteration or demolition of the public building or project were in the regular course of their duties for Affiant.

### Affiant further said:

Affiant personally has not been convicted of, nor has he/she entered into a plea of guilty or nolo contendere to any of the crimes or equivalent federal crimes listed below. No individual partner, incorporator, director, manager, officer, organizer, or member, who has a minimum of a ten percent ownership in the Bidding Entity, has been convicted of, or has entered a plea of guilty or nolo contendere to any of the crimes or equivalent federal crimes listed below. A conviction of or plea of guilty or nolo contendere to the following state crimes or equivalent federal crimes shall permanently bar any person or the bidding entity from bidding on public projects:

- (a) Public bribery (R.S. 14:118)
- (b) Corrupt influencing (R.S. 14:120)
- (c) Extortion (R.S. 14:66)
- (d) Money laundering (R.S. 14:230)

A conviction of or plea of guilty or nolo contendere to the following state crimes or equivalent federal crimes shall bar any person or the bidding entity from bidding on public projects for a period of five years from the date of conviction or from the date of the entrance of the plea of guilty or nolo contendere:

- (a) Theft (R.S. 14:67)
- (b) Identity Theft (R.S. 14:67, 16)
- (c) Theft of a business record (R.S. 14:67.20)
- (d) False accounting (R.S. 14:70)
- (e) Issuing worthless checks (R.S. 14:71)
- (f) Bank fraud (R.S. 14:71.1)
- (g) Forgery (R.S. 14:72)
- (h) Contractors; misapplication of payments (R.S. 14:202)
- (i) Malfeasance in office (R.S. 14:134)

The five-year prohibition provided for in this section shall apply only if the crime was committed during the solicitation or execution of a contract or bid awarded pursuant to these provisions. If evidence is submitted substantiating that a false attestation has been made and the project must be readvertised or the contract cancelled, the awarded entity making the false attestation shall be responsible to the public entity for the costs of rebidding, additional costs due to increased costs of bids and any and all delay costs due to the rebid or cancellation of this project.

[The remainder of this page is intentionally left blank.]

Page 3 of 4

Updated: 02.27.2014

### Affiant further said:

- (1) Entity is registered and participates in a status verification system to verify that all employees in the State of Louisiana are legal citizens of the United States or are legal aliens.
- (2) Entity shall continue, during the term of the contract, to utilize a status verification system to verify the legal status of all new employees in the State of Louisiana.

(3)	Entity	shall	require	all	subcontractors	to	submit	to	the	Entity	a_sworn	affidavit
					th statements (1)					0/	/ /	

Signature of Affiant

Byron E. Talbot, President Printed Name of Affiant

SWORN AND SUBSCRIBED TO BEFORE ME
ON THE 21st DAY OF November, 2019.

Notary Public

Larry G. Campbell Printed Name of Notary

52074

Notary/Bar Roll Number

My commission expires upon death



### CERTIFICATE OF LIABILITY INSURANCE

DATE(MM/DD/YYYY)

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES

IMP If S	CON. THIS CERTIFICATE OF IN PRESENTATIVE OR PRODUCER, AND TO ORTANT: If the certificate holder SUBROGATION IS WAIVED, subject certificate does not confer rights to the	is a	n ADDITI	ONAL INSURE	D, the policy(	ies) must h olicy, certain ).	ave ADDITIO		as or he endore	ead
	Risk Services Central, Inc.				PHONE (A/C. No		283-7122	LEAV		
200 E	igo IL Office last Randolph igo IL 60601 usa				E-MAIL ADDRE		283-/122	FAX (A/C, No.): (800	) 363-0105	
						1	NSURER(S) AFF	ORDING COVERAGE	NAIC	
NSURED					INSURE		ch America		16535	
vron .E.T	E. Talbot Contractor, Inc Construction, Inc.				INSURE	B:			2000	
eco	Rental & Supply, Inc. Box 5658				INSURE	C:				
nibo	daux LA 70302 USA				INSURE	D:				
					INSURER	E:				
21/55	1050				INSURER	F;				
	RAGES CERTIFY THAT THE POLICIES CATED. NOTWITHSTANDING ANY REC	TIFICA	ATE NUME	BER: 57007	9219188		R	EVISION NUMBER:		
CERT	CATED. NOTWITHSTANDING ANY REC IFICATE MAY BE ISSUED OR MAY USIONS AND CONDITIONS OF SUCH PO TYPE OF INSURANCE	PERT	AIN THE	INSURANCE A	AFFORDED BY E BEEN REDUCE	THE POLICIE D BY PAID CLA	OR OTHER S DESCRIBEI AIMS.	DOCUMENT WITH RESPE D HEREIN IS SUBJECT		THIS
A X		INSO		POLICY NU 0348672115	MOEK	(MM/DD/YYYY) 04/01/2019	(MM/DD/YYYY) 04/01/2020	LIMI		
	CLAIMS-MADE X OCCUR			10 M		- 1/ - 2/ 2023	-1,02,2020	DAMAGE TO RENTED	\$1,000	Maria de la compansión de
								PREMISES (Éa occurrence)	\$500	
								MED EXP (Any one person)		,000
G	ENL AGGREGATE LIMIT APPLIES PER							PERSONAL & ADV INJURY  GENERAL AGGREGATE	\$1,000	
×	POLICY PRO- JECT LOC							PRODUCTS - COMP/OP AGG	\$2,000	-
	OTHER.							TAGGGTS COMPTOP AGG	\$2,000,	,000
AL	TOMORILE LIABILITY		BAF	3486723-15		04/01/2019	04/01/2020	COMBINED SINGLE LIMIT (Ea accident)	\$2,000,	,000
×	ANYAUTO							BODILY INJURY ( Per person)		
X	OWNED AUTOS SCHEDULED AUTOS							BODILY INJURY (Per accident)		_
X	HIRED AUTOS X NON-OWNED AUTOS ONLY							PROPERTY DAMAGE (Per accident)		
	UMBRELLA LIAB OCCUR							EACH OCCURRENCE		
	EXCESS LIAB CLAIMS-MADE	1						AGGREGATE		_
	DED RETENTION		1							_
W	ORKERS COMPENSATION AND		WC3	48672215		04/01/2019	04/01/2020	X PER OTH-		_
AN	IV PROPRIETOR / PARTNER / EXECUTIVE							X SEATUTE OTH-	£1 600	000
(M	FICERMEMBER EXCLUDED?  Industry in NH)	N/A					1	E.L. DISEASE-EA EMPLOYEE	\$1,000, \$1,000,	
DE	res describe under SCRIPTION OF OPERATIONS below						L	E.L. DISEASE-POLICY LIMIT	\$1,000,	100000000000000000000000000000000000000
RIPTI	ON OF OPERATIONS/LOCATIONS/VEHICLES (ACO ate Project No. 576-26-0028 ( en 4th Street & 6th Street)	337), Phar	Additional Rev	marks Schedule, may	be attached if more sp	ace is required)	Avenue D, I	Orainage Improvement	s, Avenue C	
ish bil- lic icie	ate Project No. 576-26-0028 (en 4th Street), Department of Public Works ity and Automobile Liability Works in accordance with the es.	is ir polic poli	ncluded ies. A icy prov	as Addition waiver of si isions of th	al Insured i ubrogation i he General L	accordance s granted iability,	works Pro ce with the in favor of Automobile	gect No. 2014-026-DRs è policy provisions f Jefferson Parish, Liability and Worke	. Jefferson of the General Department of rs' Compensati	on
RTIFI	CATE HOLDER				CANCELLATI	NC				
	Jefferson Parish, Department Works		Public		SHOULD ANY DATE THEREO AUTHORIZED REPR	, NOTICE WILL BE	E DESCRIBED P DELIVERED IN AC	OLICIES BE CANCELLED BEFOR CORDANCE WITH THE POLICY PRO	RE THE EXPIRATION VISIONS.	on
	200 Derbigny Street, Suite 4 Gretna LA 70056 USA	400			- Sep	on Ri	de Sore	icas Contral	Ina	



### CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 11/12/2019

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

t	his certificate does not confer rights	to the c	ertificate holder in lieu of sucl	n endorsement(	s).	require an endorsemen	L AS	rarament ou
PRC	DUCER Marsh USA Inc.		C	ONTACT				
	one Towne Square Suite 1100		Pi	HONE		FAX		
S	outhfield, MI 48076		I E-	/C, No, Ext): MAIL		(A/C, No):		
P	. ttn: Detroit Group Captive.cert request@marsh.com		Al	DDRESS:			-	
CN1	01820761Exces-19-20					RDING COVERAGE		NAIC#
	JRED			SURER A : RSUI Inde	emnity Company			22314
	yron E. Talbot Contractor, Inc. .E.T. Construction, Inc.			SURER B :				
	eeco Rental & Supply, Inc.			SURER C:	***************************************			-
	.O. Box 5658 hibodaux, LA 70302			SURER D :				
	7030Z			SURER E :				
co	VERAGES CE	RTIFICA	TE NUMBER:	SURER F : CHI-009403847-01		REVISION NUMBER: 2		
C	HIS IS TO CERTIFY THAT THE POLICIE: IDICATED. NOTWITHSTANDING ANY R ERTIFICATE MAY BE ISSUED OR MAY KCLUSIONS AND CONDITIONS OF SUCH	OF INS	SURANCE LISTED BELOW HAVE MENT, TERM OR CONDITION OF	BEEN ISSUED TO	OR OTHER	ED NAMED ABOVE FOR THE DOCUMENT WITH RESPE	HE PO	142 1151 1 5115
NSR TR	TYPE OF INSURANCE	ADDL SU	IBR	POLICY EFF (MM/DD/YYYY)		LIMIT	20	
	COMMERCIAL GENERAL LIABILITY	1100 11	VD TOEIOT NOMBER	(MM/DD/TTTT)	(MM/DD/TTTT)	EACH OCCURRENCE	s	
	CLAIMS-MADE OCCUR					DAMAGE TO RENTED		
						PREMISES (Ea occurrence)	\$	
						MED EXP (Any one person) PERSONAL & ADV INJURY	\$	
	GEN'L AGGREGATE LIMIT APPLIES PER					GENERAL AGGREGATE	\$	
	POLICY PRO- JECT LOC					PRODUCTS - COMP/OP AGG	\$	
	OTHER:					PRODUCTS - COMPJOP AGG	\$	
	AUTOMOBILE LIABILITY					COMBINED SINGLE LIMIT	S	
	ANY AUTO					(Ea accident) BODILY INJURY (Per person)	\$	
	OWNED SCHEDULED AUTOS ONLY AUTOS						5	
	HIRED NON-OWNED AUTOS ONLY					PROPERTY DAMAGE	5	
	ACTOS ONLY					(Per accident)	S	
A	UMBRELLA LIAB X OCCUR		NHA246897	04/01/2019	04/01/2020			10,000,000
	X EXCESS LIAB CLAIMS-MADE			04/01/2010		EACH OCCURRENCE	S	10,000,000
	DED RETENTION'S					AGGREGATE	\$	10,000,000
	WORKERS COMPENSATION					PER OTH-	\$	
	AND EMPLOYERS' LIABILITY  ANYPROPRIETOR/PARTNER/EXECUTIVE  Y/N							
	OFFICER/MEMBER EXCLUDED? (Mandatory in NH)	N/A				E.L. EACH ACCIDENT	\$	
1	If yes, describe under DESCRIPTION OF OPERATIONS below					E.L. DISEASE - EA EMPLOYEE		
						E.L. DISEASE - POLICY LIMIT	2	
e: S rojec	RIPTION OF OPERATIONS / LOCATIONS / VEHICI tate Project No. 576-26-0028 (337) / H.003559, Floo t No. 2014-026-DR xcess policy follows form of the scheduled underlying	d Control I	mprovements to Avenue D Drainage Improv	rements, Avenue C (be	e space is require etween 4th & 6th 9	id) Itreet), Phase VII located in Jeffers	on Paris	h, Public Works
ER	TIFICATE HOLDER		CA	NCELLATION				J
Jefi Wo 200	ferson Parish, Department of Public	181111	S	HOULD ANY OF THE EXPIRATION	DATE THE	ESCRIBED POLICIES BE CA REOF, NOTICE WILL BI Y PROVISIONS.	NCELL E DEI	ED BEFORE LIVERED IN
				HORIZED REPRESENTATION OF THE PROPERTY OF T	NTATIVE			
			Joh	n C Hurley		Let 1 the	-	

### **CORPORATE RESOLUTION**

BE IT RESOLVED by the Board of Directors of Byron E. Talbot Contractor, Inc.
in a meeting duly assembled that Byron E. Talbot , President
of the Corporation, be and he/she is hereby authorized, empowered, and directed for and on the
Corporation to negotiate for and sign any and all bid proposals and/or contracts which this
corporation might enter into for the furnishing of services for the Corporation under such terms,
conditions and stipulations, and for such consideration as he might deem to the best interest of
the Corporation.
* * * * * * * * *
I, Bonnie M. Sanchez (Name) Secretary of Byron E. Talbot Contractor, Inc. do hereby certify that the above and forgoing is a true and correct copy of a Resolution unanimously adopted at a meeting of the Board of Directors of said Corporation held on the 12th day of October, 2012, at which meeting all members of the Board of Directors were present and voted thereon and that said Resolution has been spread upon the minute books of the Corporation, and same is now in full force and effect.
WITNESS MY SIGNATURE, this <u>21st</u> day of
November , 20 19 , at Robert , Louisiana  Bonnie M. Sanchez  Corporate Secretary
Corporate Secretary

MAIN OFFICE P. O. Box 5658 Thibodaux, LA 70302 Phone: (985) 447-5764 Fax: (985) 448-0558



NORTH SHORE OFFICE 24288 Hwy. 190 Robert, LA 70455 Phone: (985) 419-9925 Fax: (985) 419-9833

### CORPORATE RESOLUTION

BE IT RESOLVED by the Board of Directors of BYRON E. TALBOT CONTRACTOR, INC., in a meeting duly assembled, that BYRON E. TALBOT, President of the Corporation, be, and is hereby authorized, empowered, and directed for and on behalf of the Corporation to sign any and all documents for this corporation as he might deem to be in the best interest of the Corporation.

I, BONNIE M. SANCHEZ, Secretary of BYRON E. TALBOT CONTRACTOR, INC., do hereby certify that the above and foregoing is a true and correct copy of a Resolution adopted at a meeting of the Board of Directors of said Corporation held on the 12th day of October, 2012, at which meeting all members of the Board of Directors were present and voted thereon and that said Resolution has been spread upon the minutes of the Corporation, and same is now in full force and effect.

WITNESS MY SIGNATURE this 21st day of November, 2019, at Robert, Louisiana.

Bonnie M. Sanchez, Secretary



(Rev. December 2014) Department of the Treasury Internal Revenue Service

### Request for Taxpayer Identification Number and Certification

Give Form to the requester. Do not send to the IRS.

	_					_				_					_		
Print or type See Specific Instructions on page 2.	BY	1 Name (as shown on your income tax return). Name is required on this line; do not leave this line blank.  BYRON E. TALBOT CONTRACTOR, INC.															
	1	Business name/disregarded entity name, if different fro	m above														
	3 Check appropriate box for federal tax classification; check only <b>one</b> of the following seven boxes:  Individual/sole proprietor or C Corporation S Corporation Partnership Truesingle-member LLC  Limited liability company Enter the tax classification (C-C corporation S S corporation R approachie)						state	4 Exemptions (codes apply only to certain entities, not individuals; see instructions on page 3):  Exempt payee code (if any)									
	Limited liability company. Enter the tax classification (C=C corporation, S=S corporation, P=partnership)   Note. For a single-member LLC that is disregarded, do not check LLC; check the appropriate box in the line the tax classification of the single-member owner.						ne above for Exemption from FATCA reporting code (if any)										
P	Other (see instructions) ▶							(Appl	ies to	accounts	maint	ained ou	tside t	he U.S	)		
<u> </u>	5 Address (number, street, and apt. or suite no.) Request						ester's name and address (optional)										
90	301 MAIN PROJECT ROAD																
0	6	6 City, state, and ZIP code															
S	SCHRIEVER, LA 70395																
	7 1	ist account number(s) here (optional)															
Pa	rt I	Taxpayer Identification Number	(TIN)														
Ente	r you	TIN in the appropriate box. The TIN provided n	nust match the name	given on line 1 to av	oid	Social security number											
backup withholding. For individuals, this is generally your social security number (SSN). However, for a resident alien, sole proprietor, or disregarded entity, see the Part I instructions on page 3. For other entities, it is your employer identification number (EIN). If you do not have a number, see <i>How to get a</i>								2.	-		-			T			
TIN	on pa	ge 3.	you do not navo a na	inber, see now to ge	l a	or					1						
Note. If the account is in more than one name, see the instructions for line 1 and the chart on page 4 for								Employer identification number									
guidelines on whose number to enter.																	
						7	2	- 0	7	9	1	7	3	2			
Pa	rt II	Certification							_		_						
Und	er per	nalties of perjury, I certify that:															
1. T	he nu	mber shown on this form is my correct taxpayer	identification number	er (or I am waiting for	a numb	oer to	be	issued	to	me); a	and						
S	am not subject to backup withholding because: (a) I am exempt from backup withholding, or (b) I have not been notified by the Internal Revenue Service (IRS) that I am subject to backup withholding as a result of a failure to report all interest or dividends, or (c) the IRS has notified me that I am no longer subject to backup withholding; and												am				
3. 1	am a	U.S. citizen or other U.S. person (defined below	); and														
4. Th	ne FA	TCA code(s) entered on this form (if any) indicati	ng that I am exempt	from FATCA reportin	g is cor	rect.											
Cert beca inter- gene	ificat ause y est pa erally,	ion instructions. You must cross out item 2 about have failed to report all interest and dividended, acquisition or abandonment of secured propayments other than interest and dividends, you so on page 3.	ove if you have been as on your tax return. perty, cancellation of	notified by the IRS the For real estate transa debt, contributions to	nat you actions,	are o	urre 12 d	oes no	t ap	ply. F	or n	nortga	age A)	and	g		
Sign		Signature of U.S. person ▶		Da	ite ▶		11	21/	/10	7							
Ge	ner	al Instructions		Form 1098 (home moi (tuition)	rtgage in	teres	t), 10	98-E (s	tude	nt loar	n inte	erest),	1098	3-T			
Section references are to the Internal Revenue Code unless otherwise noted.  • Form 1099-C (canceled debt)																	
Future developments Information about developments affecting Form W.9 (such																	

Future developments. Information about developments affecting Form W-9 (such as legislation enacted after we release it) is at <a href="https://www.irs.gov/fw9">www.irs.gov/fw9</a>.

### **Purpose of Form**

An individual or entity (Form W-9 requester) who is required to file an information return with the IRS must obtain your correct taxpayer identification number (TIN) which may be your social security number (SSN), individual taxpayer identification number (ITIN), adoption taxpayer identification number (ATIN), or employer identification number (EIN), to report on an information return the amount paid to you, or other amount reportable on an information return. Examples of information returns include, but are not limited to, the following:

- Form 1099-INT (interest earned or paid)
- Form 1099-DIV (dividends, including those from stocks or mutual funds)
- Form 1099-MISC (various types of income, prizes, awards, or gross proceeds)
- Form 1099-B (stock or mutual fund sales and certain other transactions by brokers)
- Form 1099-S (proceeds from real estate transactions)
- Form 1099-K (merchant card and third party network transactions)

• Form 1099-A (acquisition or abandonment of secured property)

Use Form W-9 only if you are a U.S. person (including a resident alien), to provide your correct TIN.

If you do not return Form W-9 to the requester with a TIN, you might be subject to backup withholding. See What is backup withholding? on page 2.

By signing the filled-out form, you:

- 1. Certify that the TIN you are giving is correct (or you are waiting for a number to be issued),
- 2. Certify that you are not subject to backup withholding, or
- 3. Claim exemption from backup withholding if you are a U.S. exempt payee. If applicable, you are also certifying that as a U.S. person, your allocable share of any partnership income from a U.S. trade or business is not subject to the withholding tax on foreign partners' share of effectively connected income, and
- 4. Certify that FATCA code(s) entered on this form (if any) indicating that you are exempt from the FATCA reporting, is correct. See *What is FATCA reporting?* on page 2 for further information.



# State Nicensing Board for Contractors

This is to Certify that:

BYRON E. TALBOT CONTRACTOR, INC. P. O. Box 5658

Thibodaux, LA 70302

# is duly licensed and entitled to practice the following classifications

BUILDING CONSTRUCTION; ELECTRICAL WORK (RESTRICTED); HEAVY CONSTRUCTION; HIGHWAY, STREET AND BRIDGE CONSTRUCTION; MECHANICAL WORK (RESTRICTED); MUNICIPAL AND PUBLIC WORKS CONSTRUCTION; SPECIALTY: ASBESTOS REMOVAL AND ABATEMENT; SPECIALTY: HAZARDOUS WASTE TREATMENT OR REMOVAL



Expiration Date: September 12, 2021

License No: 12198

Witness our hand and seal of the Board dated, September 2019 day of Baton Rouge, LA

Director

Chairman 9

Treasurer

This License Is Not Transferrable